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INSTRUCTIONS TO CANDIDATES

A) WRITE YOUR NAME AND ADMSSION NUMBERS IN SPACES PROVIDED.

B) ANSWER ALL QUESTIONS IN THE SPACES PROVIDED.
1. State two structural differences between  the xylem and  phloem  tissue       (2mks)                                      ……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………  

2.  State Three roles of placenta                                                                            (3mks) ……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..                                  .



3. (a) Name the antigens that determine human blood groups                                   (.2mks)               ……………………………………………………………………………………………………………………………………………………………………………………………          

b.   Give Three structural differences between the following blood vessels.

(3mks)

	Arteries
	Veins

	
	


4.   Examine the diagram below and answer the questions that follow                              

a)  Name the structure labeled A and the cell labeled B ( 2mks)                  .
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Struture A ___________________________


Cell B ______________________________

a) Give two adaptations of the cell labeled C




(2mks)


.............................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................................
5. In an experiment to investigate oxygen consumption, 1.4 Litres of Carbon (IV) oxide was released in a respiring animal which consumed  2 Litres of  oxygen over the same period                                     .

a. Calculate the RQ for the animal during the period (show your working)             (2mks)       

    ……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………                                                                                                                                                                                                                                                                                                                                                                                                                                                                      b. From   the RQ you have obtained in (a)   above, suggest the type of food the animal is oxidizing.                                                                                                                 (1mk) …………………………………………………………………………………………………………………………………………………….............................................................                                           

6. a. Give two reasons why accumulation of lactic acid during vigorous exercise leads to an increased heart beat                                                                                             (  2mks)                                                                                                                                                                                                        …………………………………………………………………………………………………………………………………………………………………………………………………………………….
                                                                                                 b)State three reasons why plants do not have complex excretory system              (3mks) ………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

7. Explain why Lamarck’s  theory  of evolution is not  accepted by biologists           ( 2 mks)

……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

       8    Name the part of the mammalian kidney nephron that is :                                                                                                                                                                            

 a)Responsible for selective re-absorption of  glucose                                         .(1mks)

 ……………………………………………………………………………………………                                                                                                                                                                     b)Under influence of anti-diuretic hormone                                                          (1mks)

………………………………………………………………………………………………………………………………………………………………………………………………                                                                                                     

9. Name the causal agent of the following STDs in human beings 

(i) Syphilis

……………………………………………………………………………………           (1mks)

(ii) Trichomoniasis                                                                                                     (1mks)

……………………………………………………………………………………………

10. Outline three roles of active transport in the human body  (3mks)………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………....






.       11.    Name a disorder of human blood   that is caused by mutation
                    ( 1mks)                                                                                                                                                                                                                                                                                                                                                                                                        

             ……………………………………………………………………………………………

12. What is the role of sweat on the human skin                                                           (  1mks)

 …………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………                                                                                                                                                                                                                                                                                                                                       13. State 2 characteristics, unique to kingdom  monera                                     (2mks)





……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

 14. State functions of :                                                                                                      
 (a) amniotic fluid                                                                                                         (1mks)

         ………………………………………………………………………………………………………………………                         
(b) Fallopian tube                                                                                                         (1mk)

…………………………………………………………………………………………………………………………………………………………………

  15. State the meaning of biomass                                                               (2mks) ……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….

                                                                                                                                                                    16. Name the end- products of the light stage in photosynthesis.(3mks)                           ……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………                                          
17. a)Name the organ that produces bile juice in mammals.   ……………………………………………………………………………………………………………………………………………………………………………………..                                                                                       (1mk

                       b) state two functions of bile juice in the digestion of food 
(2mks)

                           ……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………                                                                                                             

18. Define  resolving power  as used in microscopy                                                       .(1mk)

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

  19.  What are the functions of the following parts  of  the light microscope    (2mks)

a.  Mirror          

………………………………………………………………………………………………………………………..

                         b.    Diaphragm

20. State  one function for each of the following cell organelles.(2mks)            

              a)ribosomes

.

                      b)centrioles

21.     A person was found to pass out large volumes of dilute urine frequently.

      Name the:

a. Disease the person was suffering from                                                          (1mks) ………………………………………………………………………………………………………………………

               b      Hormone that was deficient                                                                          (1mks)          …………………………………………………………………………………………………………………………………….…..

22. The diagram below represents a simplified nitrogen cycle.


(a) Name the  organisms that cause process E and   J                                      (  1mks) …………………………………………………………………………………………………………………………………………

(b)  Name the process represented by F and H                                                              (.1mks) ………………………………………………………………………………………………………………………………………..

(c) Name the group of  organism represented  by  G                                                    (1mks) ……………………………………………………………………………………………………………………………………….

23.In a breeding experiment, plants with red flowers were crossed. They  produced 123 plants with red flowers and 41 with white flowers.

                      (a) Identify the recessive character.                                                                    (1mks) ……………………………………………………………………………………………………………………………………………………..


            Give a reason                                                                                                        (1mks) ……………………………………………………………………………………………………………………………………………………. ……………………………………………………………………………………………………………………………………………………..

                         (b) What was the genotype of the parent plants that gave rise to the plants with a                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                            red and white flowers?                                                                                                                  (1mks) ……………………………………………………………………………………………………………………………………………………

                        24. Explain why sexual reproduction is important in organisms                                     ( 2mks) …………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….


        25. State one  advantage of natural selection to organisms                              ( 1mks) ……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

                    26. Explain what would happen to onion epidermal cells if they were placed in distilled water …………………………………………………………………………………………………………………………………………(.2mks)……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..
                        27. State two disadvantages of self-pollination                                          (.2mks) …………………………………………………………………………………………………………………………………………………………………………………………………………………………………………                                                               
                        28.  What is the role of the following to a germinating seed                     (    2mks)

                                                                                                                                                                                                                                                                                     i)
                     Oxygen ………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………….



ii)
Cotyledons ……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

                      29.     Name three types of chromosomal mutations.                                              (3mks)
………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………

30 . Name three sites where gaseous exchange takes place in terrestrial plant ( 3mks)
….
31.  The graph below shows the effect of substance concentration of the rate of enzyme reaction.

(a) (i) 
Account  for the shape of the graph between A and B  (2mks)………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………


(ii) 
B and C                                                                                                                        (2mks) ……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
(b) How can the rate of reaction be increased after point B?                                        (1mk)   ……………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………..

(c) State two other factors that affect the rate  of reaction of enzyme reaction                  (2mks) …………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
32.  State two importance of polyploidy in agriculture                                              (2mks)

………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
33. State three functions of plasma                                                                                 (3mks)
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